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examples . A skate boarder is traveling on a track

defined r=

2*0
.

At a particular time

instant : O=Et ; 0=-2 radkec
,

if = - 2 radke

IO Sketch the track .

IO Find F and

at
in the polar basis

.

@ Is she
speedily up or slowing down ?

@ Determine the radius of

urratwgyjnetry about
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Parti find nt and

#r
O=¥t ,

6=2 rads

= fscetf ) 8=2 rad1s2
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anttiofnanefiuaieitu ?↳I÷i⇒a¥#Et and En
- a

velocity F- rer =D re =a¥{ FF

iertreowe need i = # zt cos 20 }=EsinzO ) ( 20 )
= - sin ( 3¥ ) ( 2. fz ) ) = -t.in/stTr.O=2f2)=-4m/s=Dv=

-4€
-
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acceleration

÷
- ⇐ = # rertroeo }=CI. Iokrtalotzoleo

still ii=d¥{r3=d¥{ to

sinzofzosenzo
-460

At O=%T : it = - Zfz ) sin ( It ) = -4 m/s2

=D a- = (-4-4-212) Er + (21-2)+4-4 )f2 ) )e^o

= -
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IO speedy up ,
or slowing

donated
+ Iren

Need compute E oft
-

E- =
- tater tea )= { a= # iv ]

=D E. E- = - izcereo ) ( tacerieo ) ) -0

Neither

IO Obtain p :Ewenis - liven

=D p= yay {
Recall that thatwingate



Kampf's Suppose two cars are in a circular

turn with the configuration data :

°sA=30 mph §A= 500 mph
'

SB= 50 mph is = -100 mph
-

←

-
- - -

- -
-

of : find the difference in1 300

t¥T¥@n°¥¥e⇒
their velocities and accelerations

.
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- Eta = - tat . tag . E ,→=±et¥f
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£nA= #
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in - its - stealers
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-
-
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Fd×)=FEEDat )=÷H)=rI(xHDk
ygcx ,

= f "Cx)f⇒±iHIE"KHDx2+rIcxHD%



-vxE=(rI'
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' ⇐F=
"
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